#]&ER FHB0E5A8H

P E RFEH— R REFEVERR LS HEFEEN

FR3044 8
B BIoRR B KEOKR B EERoORR
EEEICHE () 46.04 #/k8 H30.4.3 EHARE H29.9.14
&I 43.42 _ KEREHR H30.4.4 K. BEEE DR S
-------------------------------- =
EECH (—F) 2.62 " pH 7.7 KT OIS =
WERTEE (b) ‘ BOD(mg/1) 43.2 12 AflaRE H30.4.3
7|
chR LIRS (1) SS(mg/1) 38.0 N ER ERORE =
B CHE (1) 46.04 ZERSHEEMm) 18.1 ) BLOWKR bici
B CHE(m) 81.7 kA H30.4.3 CHOREL. =
BIXE® 16.00 KEHRER H30.4.4 2HKDORERETE =
BELE(m) 10.0 pH 78 M DREIKR bici
EBIRE (M) 91.7 B BOD(mg/1) 2.1 EHARE H29.9.14
BUIBRKREE(M) X1 8,562 i 1SS(me/l) 0.2 SEE OIS =
.................................... B
BUIBRKRFE(M) X2 3,998 K BREHE(Mme/) 19.4 KT OIS =
X1 ER26F7ARAEOHRMAEE, v (mg/l) <0.1 A=A H30.4.3
%2 FER26E7ADRERERICETSC ith
RIERERBEICLIETE., R FE(mg/1) 0.10 CHDFE =
KIE L E/ mI) 0 AR DFEIKR &
#/kA8 H30.4.3 EHARE H29.8.31
" KEHRER H30.4.4 B BEROBWE =
t H
£ 0.1 K| EKE.BEEOERE =
T | ERIEEEmMS/cm) mn
TR 0.2 B R<FARE H30.4.3
7k )i
E& 1.9 ® MEoOmE <}
B4 (me/1)
TR 40 B OZREIRR bici




]ER FHB0F6ATR

P E RFEH— R REFEVERR LS HEFEEN

30458
B BIoRR B KEOKR B EERoORR
EEEICHE () 4873 #/k8 H30.5.8 EHARE H29.9.14
&I 45.16 _ KEREHR H30.5.9 K. BEEE DR S
-------------------------------- =
EECH (—F) 357 " pH 7.4 KT OIS =
WERTEE (b) ‘ BOD(mg/1) 24.0 12 AflaRE H30.5.8
7|
chRS LIRS (1) SS(mg/1) 46.0 N ER ERORE =
B CHE (1) 4873 ZERSHEEMm) 125 ) BLOWKR bici
B CHE(m) 86.5 kA H30.5.8 CHOREL. =
BIXE® 118.40 KEHRER H30.5.9 2HKDORERETE =
BXE(m) 74.0 pH 1.7 M DREIKR bici
EBIRE (M) 160.5 B BOD(mg/1) 3.9 EHARE H29.9.14
BUIBRKREE(M) X1 8,562 i 1SS(me/l) 6.2 SEE OIS =
.................................... gjﬁ
BUIBRKRFE(M) X2 3,838 K BREHE(Mme/) 14.0 KT OIS =
X1 ER26F7ARAEOHRMAEE, v (mg/l) <0.1 A=A H30.5.8
%2 FER26E7ADRERERICETSC ith
RIERERBEICLIETE., R FE(mg/1) 0.10 CHDFE =
KIE L E/ mI) 0.0 AR DFEIKR &
#/kA8 H30.5.8 EHARE H29.8.31
" KE®RER H30.5.9 = MR e i3
t H
£ 0.1 K| EKE.BEEOERE =
T | ERIEEEmMS/cm) mn
Tk 0.2 H RFE%E H30.5.8
7k )i
E& 1.2 ® MEoOmE <}
B4 (me/1)
TR 2.0 B OZREIRR bici




]ER FHB0ETA3A

P E RFEH— R REFEVERR LS HEFEEN

3046 A
B BIoRR B KEOKR B EERoORR
EEEICHE () 63.64 #/k8 H30.6.5 EHARE H29.9.14
&I 59.06 _ KEREHR H30.6.6 K. BEEE DR S
-------------------------------- =
EECH (—F) 458 " pH 7.7 KT OIS =
BERNFRIAE () ‘ BOD(mg/1) 450 H AHE%A H30.6.5
7|
chR LIRS (1) SS(mg/1) 66.0 N ER ERORE =
B CHE (1) 63.64 ZERSHEEMm) 20.8 ) BLOWKR bici
B CHE(m) 113.0 kA H30.6.5 CHOREL. =
BIXE® 43.60 KEHRER H30.6.6 2HKDORERETE =
BELE(m) 27.3 pH 7.9 M DREIKR bici
EBIRE (M) 140.2 B BOD(mg/1) 3.0 EHARE H29.9.14
BUIBRKREE(M) X1 8,562 i 1SS(me/l) 0.2 SEE OIS =
.................................... gjﬁ
BUIBRKRFE(M) X2 3,698 K BREHE(Mme/) 19.3 KT OIS =
X1 ER26F7ARAEOHRMAEE, v (mg/l) <0.1 A=A H30.6.5
%2 FER26E7ADRERERICETSC ith
RIERERBEICLIETE., R FE(mg/1) 0.2 CHDFE =
KIE L E/ mI) 0 AR DFEIKR &
#/kA8 H30.6.5 EHARE H29.8.31
" KEHRER H30.6.6 B BEROBWE =
t H
£ 0.1 K| EKE.BEEOERE =
T | ERIEEEmMS/cm) mn
Tk 0.2 H RFE%E H30.6.5
7k )i
E& 14 ® MEoOmE <}
B4 (me/1)
TR 25 O RERR bl




#}&ER8 FH0E8A3A

P E RFEH— R REFEVERR LS HEFEEN

ErRE304E78
B BIoRR B KEOKR B EERoORR
EEEICHE () 62.16 #/k8 H30.7.3 EHARE H29.9.14
IRETH 59.24 _ kERER H30.7.4 SR HEEEO IS =
-------------------------------- =
EECH (—F) 2.92 " pH 75 KT OIS =
WERTEE (b) ‘ BOD(mg/1) 16.8 12 AflaRE H30.7.3
7|
chRS LIRS (1) SS(mg/1) 64.0 N ER ERORE =
B CHE (1) 62.16 ZERSHEEMm) 21.6 ) BLOWKR bici
B CHE(m) 110.3 kA H30.7.3 CHOREL. =
BIXE® 160.80 KEHRER H30.7.4 2HKDORERETE =
BXE(m) 100.5 pH 78 M DREIKR bici
EBIRE (M) 210.8 B BOD(mg/1) 0.3 EHARE H29.9.14
BUIBRKREE(M) X1 8,562 i 1SS(me/l) 2.6 SEE OIS =
.................................... gjﬁ
BUIBRKRFE(M) X2 3,487 K BREHE(Mme/) 20.6 KT OIS =
X1 ER26F7ARAEOHRMAEE, v (mg/l) <0.1 A=A H30.7.3
%2 FER26E7ADRERERICETSC ith
RIERERBEICLIETE., R FE(mg/1) 0.2 CHDFE =
KIE L E/ mI) 0.0 AR DFEIKR &
#/kA8 H30.7.3 EHARE H29.8.31
" KE®RER H30.7.4 = MR e i3
t H
£ 0.1 K| EKE.BEEOERE =
T | ERIEEEmMS/cm) mn
Tk 0.2 H RFE%E H30.7.3
7k )i
E& 1.2 ® MEoOmE <}
B4 (me/1)
TR 3.0 B OZREIRR bici




]ER FHB0FIA3A

P E RFEH— R REFEVERR LS HEFEEN

3048 A
B BIoRR B KEOKR B EERoORR
EEEICHE () 79.31 #/k8 H30.8.7 EHARE H29.9.14
&I 51.92 _ KEREHR H30.8.8 K. BEEE DR S
-------------------------------- =
EECH (—F) 27.39 pH 75 KT OIS =
H
BERNFRIAE () ‘ BOD(mg/1) 51.0 H AHE%A H30.8.7
7|
chRS LIRS (1) SS(mg/1) 64.0 N ER ERORE =
B CHE (1) 79.31 ZERSHEEMm) 3.2 ) BLOWKR bici
B CHE(m) 140.8 kA H30.8.7 CHOREL. =
BIXE® 90.80 KEHRER H30.8.8 2HKDORERETE =
BXE(m) 56.8 pH 1.7 M DREIKR bici
EBIRE (M) 197.5 B BOD(mg/1) 0.9 EHARE H29.9.14
BUIBRKREE(M) X1 8,562 i 1SS(me/l) 0.4 SEE OIS =
.................................... gjﬁ
BUIBRKRFE(M) X2 3,289 K BREHE(Mme/) 5.7 KT OIS =
X1 ER26F7ARAEOHRMAEE, v (mg/l) <0.1 A=A H30.8.7
X2 TR26E7ADBERKRICEIS piu
REREREEICLIEEE. R FE(mg/1) 0.20 CHDFE =
KIE L E/ mI) 0 AR DFEIKR &
#/kA8 H30.8.7 EHARE H29.8.31
" KEHRER H30.8.8 B BEROBWE =
s H
£ 0.1 K| EKE.BEEOERE =
T | ERIEEEmMS/cm) mn
Tk 0.2 H RFE%E H30.8.7
7k )i
E& 1.6 ® MEoOmE <}
B AA> (me/l)
Tk 35 B O ZEIKR &




MEB FM30E10A28

P E RFEH— R REFEVERR LS HEFEEN

ERE304E9 8
B BIoRR B KEOKR B EERoORR
EEEICHE () 53.53 #/k8 H30.9.4 EHARE H30.9.20
&I 51.25 _ KEREHR H30.9.5 K. BEEE DR S
-------------------------------- =
EECH (—F) 2.28 " pH 76 KT OIS =
WERTEE (b) ‘ BOD(mg/1) 33.0 12 AflaRE H30.9.4
7|
chRS LIRS (1) SS(mg/1) 46.0 N ER ERORE =
B CHE (1) 53.53 ZERSHEEMm) 17.4 ) BLOWKR bici
B CHE(m) 95.0 kA H30.9.4 CHOREL. =
BIXE® 84.40 KEHRER H30.9.5 2HKDORERETE =
BXE(m) 52.8 pH 1.7 M DREIKR bici
EBIRE (M) 147.8 B BOD(mg/1) 0.9 EHARE H30.9.20
BUIBRKREE(M) X1 8,562 i 1SS(me/l) 0.4 SEE OIS =
.................................... gjﬁ
BUIBRKRFE(M) X2 3,141 K BREHE(Mme/) 18.1 KT OIS =
X1 ER26F7ARAEOHRMAEE, v (mg/l) <0.1 A=A H30.9.4
%2 FER26E7ADRERERICETSC ith
RIERERBEICLIETE., R FE(mg/1) 0.20 CHDFE =
KIE L E/ mI) 0 AR DFEIKR &
#/kA8 H30.9.4 EHARE H30.9.20
" KE®RER H30.9.5 = MR e i3
t H
£ 0.1 K| EKE.BEEOERE =
T | ERIEEEmMS/cm) mn
TR 0.2 B R<FARE H30.9.4
7k )i
E& 1.2 ® MEoOmE <}
B4 (me/1)
TR 25 O RERR bl




MEB FM30FE11ATA

P E RFEH— R REFEVERR LS HEFEEN

ERE304E10A
B BIoRR B KEOKR B EERoORR
EEEICHE () 60.00 #/k8 H30.10.9 EHARE H30.9.20
&I 51.08 _ KEREHR H30.10.10 K. BEEE DR S
-------------------------------- =
EECH (—F) 8.92 " pH 7.9 KT OIS =
WERTEE (b) ‘ BOD(mg/1) 28.8 12 AflaRE H30.10.9
7|
chR LIRS (1) SS(mg/1) 18.0 N ER ERORE =
B CHE (1) 60.00 ZERSHEEMm) 20.2 ) BLOWKR bici
B CHE(m) 106.5 kA H30.10.9 CHOREL. =
BIXE® 68.40 KEHRER H30.10.10 2HKDORERETE =
BELE(m) 428 pH 78 M DREIKR bici
EBIRE (M) 149.3 B BOD(mg/1) 0.9 EHARE H30.9.20
BUIBRKREE(M) X1 8,562 i 1SS(me/l) 0.2 SEE OIS =
.................................... gjﬁ
BUIBRKRFE(M) X2 3,099 K BREHE(Mme/) 21.4 KT OIS =
X1 FR26E7 ARENRMBISME, TvER(me/) <0.1 BflE#%E H30.10.9
%2 FER26E7ADRERERICETSC ith
RIERERBEICLIETE., R FE(mg/1) 0.20 CHDFE =
KIE L E/ mI) 0 AR DFEIKR &
#/kA8 H30.10.9 EHARE H30.9.20
" KEHRER H30.10.10 B BEROBWE =
t H
£ 0.1 K| EKE.BEEOERE =
T | ERIEEEmMS/cm) mn
TR 0.2 B R<FARE H30.10.9
7k )i
E& 0.9 ® MEoOmE <}
B4 (me/1)
TR 2.0 B OZREIRR bici




MEB FM30E12A3A

P E RFEH— R REFEVERR LS HEFEEN

ERE30E11A
B BIoRR B KEOKR B EERoORR
EEEICHE () 43.24 #/k8 H30.11.6 EHARE H30.9.20
&I 38.35 _ KEREHR H30.11.7 K. BEEE DR S
-------------------------------- =
EECH (—F) 4.89 " pH 8.0 KT OIS =
WERTEE (b) ‘ BOD(mg/1) 16.8 12 AflaRE H30.11.6
7|
chR LIRS (1) SS(mg/1) 11.0 N ER ERORE =
B CHE (1) 43.24 ZERSHEEMm) 20.0 ) BLOWKR bici
B CHE(m) 76.8 kA H30.11.6 CHOREL. =
BIXE® 56.00 KEHRER H30.11.7 2HKDORERETE =
BELE(m) 35.0 pH 7.9 M DREIKR bici
EBIRE (M) 111.8 B BOD(mg/1) 1.1 EHARE H30.9.20
BUIBRKREE(M) X1 8,562 i 1SS(me/l) 0.2 SEE OIS =
.................................... gjﬁ
BUIBRKRFE(M) X2 2,880 K BREHE(Mme/) 19.8 KT OIS =
X1 FR26E7 ARENRMBISME, TvER(me/) <0.1 BflE#%E H30.11.6
%2 FER26E7ADRERERICETSC ith
RIERERBEICLIETE., R FE(mg/1) 0.20 CHDFE =
KIE L E/ mI) 0 AR DFEIKR &
#/kA8 H30.11.6 EHARE H30.9.20
" KEHRER H30.11.7 B BEROBWE =
t H
£ 0.1 K| EKE.BEEOERE =
T | ERIEEEmMS/cm) mn
T& 0.2 B R<FARE H30.11.6
7k )i
E& 1.2 ® MEoOmE <}
B4 (me/1)
Tk 3.0 W OREIRR &




®ER FRBIF1ATR

P E RFEH— R REFEVERR LS HEFEEN

SERE305E12A8
B BIoRR B KEOKR B EERoORR
EEEICHE () 40.21 #/k8 H30.12.4 EHARE H30.9.20
&I 37.59 _ KEREHR H30.12.5 K. BEEE DR S
-------------------------------- =
EECH(—E) 2.62 pH 8.0 BRI OIS 3
H
WERTEE (b) ‘ BOD(mg/1) 48.0 12 AflaRE H30.12.4
7|
chR LIRS (1) SS(mg/1) 6.0 N ER ERORE =
B CHE (1) 40.21 ZERSHEEMm) 17.8 ) BLOWKR bici
B CHE(m) 71.4 kA H30.12.4 CHDFREL FiH =
BIXE® 0.00 KEHRER H30.12.5 2HKDORERETE =
BELE(m) 0.0 pH 8.0 M DREIKR bici
EBIRE (M) 714 B BOD(mg/1) 2.1 EHARE H30.9.20
BUIBRKREE(M) X1 8,562 i 1SS(me/l) 0.2 SEE OIS =
.................................... gjﬁ
BUIBRKRFE(M) X2 2,809 K BREHE(Mme/) 18.4 KT OIS =
X1 FR26E7 ARENRMBISME, TvER(me/) <0.1 BflE#%E H30.12.4
%2 FER26E7ADRERERICETSC ith
ABRBRERYEICLDIETEE, R (mg/1) 0.20 ZHDiF =
KIE L E/ mI) 0 AR DFEIKR &
#/kA8 H30.12.4 EHARE H30.9.20
" KEHRER H30.12.5 B BEROBWE =
t H
£ 0.1 K| EKE.BEEOERE =
T | ERIEEEmMS/cm) mn
TR 0.2 B R<FARE H30.12.4
7k )i
E& 1.1 ® MEoOmE <}
B4 (me/1)
TR 3.0 B OZREIRR bici




®ER TH314£284R

P E RFEH— R REFEVERR LS HEFEEN

ER31E1R
B BIoRR B KEOKR B EERoORR
EEEICHE () 29.46 #/k8 H31.1.8 EHARE H30.9.20
&I 28.56 _ KEREHR H31.1.9 K. BEEE DR S
-------------------------------- =
EECH (—F) 0.90 " pH 8.0 KT OIS =
WERTEE (b) ‘ BOD(mg/1) 28.8 12 AflaRE H31.1.8
7|
R ALIEEEE (1) SS(mg/1) 35 I ER ERORLE =
B CHE (1) 29.46 ZERSHEEMm) 27.2 ) BLOWKR bici
B CHE(m) 52.3 kA H31.1.8 CHOREL. =
BIXE® 0.00 KEHRER H31.1.9 2HKDORERETE =
BELE(m) 0.0 pH 7.9 M DREIKR bici
EBIRE (M) 52.3 B BOD(mg/1) 3.0 EHARE H30.9.20
BUIBRKREE(M) X1 8,562 i 1SS(me/l) 0.2 SEE OIS =
.................................... gjﬁ
BUIBRKRFE(M) X2 2,757 K BREHE(Mme/) 29.3 KT OIS =
X1 ER26F7ARAEOHRMAEE, v (mg/l) <0.1 A=A H31.1.8
%2 FER26E7ADRERERICETSC ith
REREREEICLIEEE. R FE(mg/1) 0.20 CHDFE =
KIE L E/ mI) 0 AR DFEIKR &
#/kA8 H31.1.8 EHARE H30.9.20
" KEHRER H31.1.9 B BEROBWE =
t H
£ 0.1 K| EKE.BEEOERE =
T | ERIEEEmMS/cm) mn
TR 0.2 B R<FARE H31.1.8
7k )i
E& 1.0 ® MEoOmE <}
B4 (me/1)
TR 25 O RERR bl




®ER TH314E384A

P E RFEH— R REFEVERR LS HEFEEN

k31428
B BIoRR B KEOKR B EERoORR
EEEICHE () 25.35 #/k8 H31.25 EHARE H30.9.20
IRETH 2454 _ kERER H31.2.6 SR HEEEO IS =
-------------------------------- =
EECH (—F) 0.81 " pH 7.8 KT OIS =
WERTEE (b) ‘ BOD(mg/1) 31.2 12 AflaRE H31.25
7|
chR LIRS (1) SS(mg/1) 22.0 N ER ERORE =
B CHE (1) 25.35 ZERSHEEMm) 25.4 ) BLOWKR bici
B CHE(m) 45.0 kA H31.2.5 CHOREL. =
BIXE® 0.00 KEHRER H31.2.6 2HKDORERETE =
BXE(m) 0.0 pH 78 M DREIKR bici
EBIRE (M) 45.0 B BOD(mg/1) 1.1 EHARE H30.9.20
BUIBRKREE(M) X1 8,562 i 1SS(me/l) 0.2 SEE OIS =
.................................... B
BUIBRKRFE(M) X2 2,712 K BREHE(Mme/) 36.9 KT OIS =
X1 FR26E7 ARENRMBISME, TvER(me/) 0.1 BflE#%E H31.25
%2 FER26E7ADRERERICETSC ith
RIERERBEICLIETE., R FE(mg/1) 0.20 CHDFE =
KIE L E/ mI) 0 AR DFEIKR &
#/kA8 H31.25 EHARE H30.9.20
" KEHRER H31.2.6 B BEROBWE =
t H
£ 0.1 K| EKE.BEEOERE =
T | ERIEEEmMS/cm) mn
Tk 0.2 H RFE%E H31.2.5
7k )i
E& 1.4 ® MEoOmE <}
B4 (me/1)
TR 35 O RERR bl




HER FHRB14E4A3R

P E RFEH— R REFEVERR LS HEFEEN

314538
B BIoRR B KEOKR B EERoORR
EEEICHE () 37.27 #/k8 H31.35 EHARE H30.9.20
&I 34.26 _ KEREHR H31.3.6 K. BEEE DR S
-------------------------------- =
EECH (—F) 3.01 " pH 7.9 KT OIS =
WERTEE (b) ‘ BOD(mg/1) 24.0 12 AflaRE H31.35
7|
chRS LIRS (1) SS(mg/1) 145 N ER ERORE =
B CHE (1) 37.27 ZERSHEEMm) 27.3 ) BLOWKR bici
B CHE(m) 66.2 kA H31.35 CHOREL. =
BIXE® 0.00 KEHRER H31.3.6 2HKDORERETE =
BXE(m) 0.0 pH 7.7 M DREIKR bici
EBIRE (M) 66.2 B BOD(mg/1) 0.6 EHARE H30.9.20
BUIBRKREE(M) X1 8,562 i 1SS(me/l) 0.2 SEE OIS =
.................................... gjﬁ
BUIBRKRFE(M) X2 2,646 K BREHE(Mme/) 274 KT OIS =
X1 ER26F7ARAEOHRMAEE, v (mg/l) <0.1 A=A H31.3.5
%2 FER26E7ADRERERICETSC ith
REREREEICLIEEE. R FE(mg/1) 0.20 CHDFE =
KIE L E/ mI) 0 AR DFEIKR &
#/kA8 H31.35 EHARE H30.9.20
" KEHRER H31.3.6 B BEROBWE =
t H
£ 0.1 K| EKE.BEEOERE =
T | ERIEEEmMS/cm) mn
Tk 0.2 H RFE%E H31.3.5
7k )i
E& 2.1 ® MEoOmE <}
B4 (me/1)
TR 45 O RERR bl




